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Secondary 4 Streaming 

	Key Stage
	：
	3

	Dimension
	：
	Data Handling

	Learning Unit
	：
	Measures of Central Tendency

	Basic Competency
	：
	KS3-DH3-3

Calculate the weighted mean of a set of data.


Introduction：
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Learning Unit：Measures of Central Tendency ─ Secondary 4 Streaming 

Problem-solving Series 

secondary 4 Streaming 

Three students, Peter, May and Eric graduated from Secondary 3 with the following results:

	Subject
	Weight
	Peter
	May
	Eric

	Chinese 
	2
	85
	72
	69

	English 
	2
	63
	81
	70

	Mathematics 
	2
	88
	71
	82

	Chinese History
	1
	70
	82
	69

	History
	1
	73
	80
	68

	Economic and Public Affairs 
	1
	67
	83
	70

	Geography
	1
	80
	75
	85

	Physics
	1
	92
	74
	96

	Chemistry
	1
	87
	73
	70

	Biology
	1
	83
	72
	73


(a) Find out the mean marks of Peter, May and Eric. 

(b) Peter and Eric were given preferential options to study Geography and Physics in S4 while May was not. She believes that she deserves preferential option since her mean mark is higher than that of Eric. Do you agree with her? Why? 

(c) How does your school calculate the mean marks during the streaming process?

(d)
When calculating the mean mark for streaming, a secondary school increased the weights of geography and physic to 2. Next, they added up the marks of all subjects and divided the sum by 15. With this method, the mean marks of Peter, May and Eric becomes:


Mean mark of Peter = 79.7



Mean mark of May = 75.7



Mean mark of Eric = 76.9


Do you agree with this calculation method? Why?

Learning Unit：Measures of Central Tendency ─ Secondary 4 Streaming? 

Problem-solving Series 

secondary 4 Streaming（Answers）
Three students, Peter, May and Eric graduated from Secondary 3 with the following results:

	Subject
	Weight
	Peter
	May
	Eric

	Chinese 
	2
	85
	72
	69

	English 
	2
	63
	81
	70

	Mathematics 
	2
	88
	71
	82

	Chinese History
	1
	70
	82
	69

	History
	1
	73
	80
	68

	Economic and Public Affairs 
	1
	67
	83
	70

	Geography
	1
	80
	75
	85

	Physics
	1
	92
	74
	96

	Chemistry
	1
	87
	73
	70

	Biology
	1
	83
	72
	73


(a) Find out the mean marks of Peter, May and Eric.

Mean mark of Peter = 78.8


Mean mark of May = 75.9


Mean mark of Eric = 74.8
(b) Peter and Eric were given preferential options to study Geography and Physics in S4 while May was not. She believes that she deserves preferential option since her mean mark is higher than that of Eric. Do you agree with her? Why?

(Open-ended answer)

(c) How does your school calculate the mean marks during the streaming process?

(Open-ended answer)

(d)
When calculating the mean mark for streaming, a secondary school increased the weights of geography and physic to 2. Next, they added up the marks of all subjects and divided the sum by 15. With this method, the mean marks of Peter, May and Eric becomes:


Mean mark of Peter = 79.7



Mean mark of May = 75.7



Mean mark of Eric = 76.9


Do you agree with this calculation method?  Why?


(Open-ended answer)
The teacher gives the class a revision on the concept of mean.


The teacher invites students to have group discussion.  Each group will have the discussion sheet “Problem-solving Series – Secondary 4 Streaming”.  They will discuss that in some situations, neither the sum nor the mean are good indicators for comparing two sets of data.  Sometimes the importance of specific items should be accounted for.


The teacher asks students to report their findings from discussion.


The teacher concludes：during the streaming process, we should consider the relevance of individual subjects to the subjects that the student will choose in From Four.  Hence, to consider a student’s suitability for certain subjects, teachers would put weights on different subjects.  For example, teachers can use the ratio of 1：2 to show the differences between the importance of individual subjects.  The mean derived from this calculating method is known as weighted mean.


Weighted mean = � EMBED Equation.3  ���


The teacher shows an example to illustrate the calculation of weighted mean.


An English examination consists of 4 papers.  The full mark of each paper is 100.  The table below shows the marks obtained by a candidate in the 4 papers：
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Paper�
I�
II�
III�
IV�
�
Marks�
72�
85�
67�
79�
�
Weight�
2�
3�
1�
4�
�
Teacher discusses with students whether the following can truly reflect  the student’s average mark in this examination. 


Average mark � EMBED Equation.3  ���


Find out the weighted mean mark of the student.


(Weighted mean mark� EMBED Equation.3  ���)


Students must obtain at least 75 marks or above in this examination to qualify for studying in the UK.  Did the candidate meet this requirement? (The candidate did)


6.	Teacher reminds students that when finding the weighted mean, not only the values of data and the number of items but also the weight of each item should be taken into account.


7.	The teacher invites students to give some examples on weighted mean. (Hang Seng Index, Consumer Price Index etc.)


8.	The teacher can use other similar examples to consolidate students’ knowledge.





The sum of all data multiplied by their corresponding weights





The sum of the weights








_1175670021.unknown

_1179666473.unknown

_1160833458.unknown

